



次の計算をしましょう。

$$(1) 5\frac{2}{5} - 1\frac{3}{5} + 2\frac{4}{5}$$

$$= 6\frac{3}{5}$$

$$(2) 2\frac{8}{15} + 6\frac{13}{15} - 3\frac{7}{15}$$

$$= \frac{38}{15} + \frac{103}{15} - \frac{52}{15} = \frac{89}{15}$$

$$= 5\frac{14}{15}$$

$$6\frac{3}{5} = \left(\frac{33}{5} \right)$$

$$5\frac{14}{15} = \left(\frac{89}{15} \right)$$

$$(3) 7\frac{6}{7} + 3\frac{2}{7} - 5\frac{5}{7}$$

$$= \frac{55}{7} + \frac{23}{7} - \frac{40}{7} = \frac{38}{7}$$

$$= 5\frac{3}{7}$$

$$(4) 6\frac{2}{31} - \frac{21}{31} + 3\frac{32}{31}$$

$$= \frac{188}{31} - \frac{21}{31} + \frac{125}{31} = \frac{292}{31}$$

$$= 9\frac{13}{31}$$

$$5\frac{3}{7} = \left(\frac{38}{7} \right)$$

$$9\frac{13}{31} = \left(\frac{292}{31} \right)$$

$$(5) 3\frac{2}{253} - 2\frac{289}{253} - 1\frac{362}{253}$$

$$= \frac{761}{253} + \frac{795}{253} - \frac{615}{253}$$

$$= \frac{941}{253} = 3\frac{182}{253}$$

$$(6) 7\frac{268}{575} - 2\frac{304}{575} - 1\frac{352}{575}$$

$$= 6\frac{843}{575} - 2\frac{304}{575} - 1\frac{352}{575}$$

$$= 3\frac{187}{575}$$

$$3\frac{182}{253}$$

$$3\frac{187}{575} = \left(\frac{1912}{575} \right)$$

